
  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

08/04   

 
 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 - Freeway Bar 
2 - Billet Clamps 
2 – Steel clamps 
2 – 3/8-16 x 2 Button Head Screws 
2 – 3/8-16 Nylock Nuts 
2 – 3/8 Flat Washers 
 

Application > 

KAWASAKI VN1600A 03-08 

Instruction Manual > 

Before installing your new Cobra Freeway bar, read all instructions carefully. 
1. Remove the M10 bolt from the lower front floorboard mount at the frame on both the left and right side and set 

aside for later use. 
2. Install Cobra freeway bar with lower mounting brackets facing to the rear and slide Cobra freeway bar top 

mounting brackets over the top of the frame down tubes and lower down until lower freeway bar mounting 
bracket holes align with floorboard mounting holes where the bolts were removed in step. 1 

3. Install the M10 bolts set aside from step 1 and tighten so they are snug and the freeway bar will stay upright but 
can still be adjusted for top mount alignment. Note: Make sure the top right freeway bar mounting bracket is 
behind the wiring harness. 

4. Install supplied black billet mounting clamp between right side frame down tube and freeway bar upper mounting 
bracket.  Place supplied 3/8 button head screw through outside freeway bar mounting bracket and billet clamp.  
Locate supplied steel bracket on inside of billet clamp.  Install washer and locking nut on the 3/8 button head 
screw as shown in figure 1. 

5. Repeat step 4 on left side. 
6. Tighten right and left lower mounting bolts.  Tighten right and left upper mounting bolts making sure the steel 

bracket located on the inside stays registered inside of the billet clamp bracket. 
7. Torque all bolts to there appropriate values. 

 
Cobra Freeway Bars add style to your motorcycle.  They are not designed to withstand a serious impact and 
may not protect you and/or your motorcycle in the event of a crash. 

 01-1461 / 01-2461 Page 1 of 1 
 

 
FIGURE 1 

FREEWAY BAR 

SUPPLIED 
BILLET CLAMP 

SUPPLIED 
STEEL CLAMP 

SUPPLIED 
BUTTON HEAD SCREW 

SUPPLIED 
NUT AND WASHER 

FRAME DOWN TUBE 


